



■ 1  $f(x) = -x^3 + ax^2 + bx + c$  より,  $f'(x) = -3x^2 + 2ax + b$

$x = -3, 1$  で極値をとるから,  $f'(-3) = 0, f'(1) = 0$

$\therefore f'(-3) = -27 - 6a + b = 0 \cdots \textcircled{1} \quad f'(1) = -3 + 2a + b = 0 \cdots \textcircled{2}$

①②を解いて,  $a = -3, b = 9$

これより,  $f(x) = -x^3 - 3x^2 + 9x + c$

$x = 1$  のとき,  $y = 8$  となるから,  $f(1) = -1 - 3 + 9 + c = 8 \quad \therefore c = 3$

■ 2  $f(x) = 2x^3 - 3(a+1)x^2 + 6ax + 3a$  より,  $f'(x) = 6x^2 - 6(a+1)x + 6a = 6(x-1)(x-a)$

(i)  $1 < a$  のとき, 増減表は右のようになり,  
 $x = 1$  のとき極大値  $6a - 1$ ,  $x = a$  の  
 とき極小値  $-a^3 + 3a^2 + 3a$  をとる。

$x$	...	1	...	$a$	...
$f'(x)$	+	0	-	0	+
$f(x)$	↗	$6a - 1$	↘	$-a^3 + 3a^2 + 3a$	↗

(ii)  $a < 1$  のとき, 増減表は右のようになり,  
 $x = a$  のとき極大値  $-a^3 + 3a^2 + 3a$ ,  
 $x = 1$  のとき極小値  $6a - 1$  をとる。

$x$	...	$a$	...	1	...
$f'(x)$	+	0	-	0	+
$f(x)$	↗	$-a^3 + 3a^2 + 3a$	↘	$6a - 1$	↗

(iii)  $a = 1$  のとき,  $f'(x) = 6(x-1)^2 \geq 0$  となり,  $f(x)$  は常に増加するため, 極値はもたない。